
 

 

 
 

V. Sources of Error 

The percent error calculated for the molar mass of unknown solid A was 38%.  This 
percent error indicated the experimental molar mass was too low.  A systemic 
experimental error explaining this inaccuracy was determined to be loss of calcium 
carbonate mass while filtering.  Future experiments could eliminate this error by 
measuring the mass of the beaker and any remaining calcium carbonate in the analytic 
results.  This would account for the mass of any calcium carbonate remaining in the 
beaker.  A random experimental error contributing to this inaccuracy was the mass 
balance precision of 0.01 grams.  A mass balance with 0.001 gram precision would 
increase the precision of the mass data and the accuracy of the results. 
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